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2   +    3      =        5      

aⁿaᵐ=aⁿ⁺ᵐ

5∗5² = ∗ ∗ = 5³= 125
1   +   2     =    3      

2²∗2³ =   ∗  ∗  ∗  ∗    = 2⁵= 32

3²∗3² = ∗ ∗ ∗ = 3⁴ = 81
2   +  2     =    4
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Примеры.

4²∗4⁴=4²⁺⁴=4⁶

a³∗a⁴=a³⁺⁴=a⁷

b²∗b³∗b⁴=b²⁺³⁺⁴=b⁹

2²∗2³∗2⁷∗2²=2²⁺³⁺⁷⁺²=2¹⁴

c∗c²∗c³∗c⁶=c¹⁺²⁺³⁺⁶=c¹²

a∗a∗a²∗a³=a¹⁺¹⁺²⁺³=a⁷



2.  Частное степеней
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Примеры.

2⁶

2⁴
=2⁶⁻⁴=2²=4

44

4²=4⁴⁻²=4²=16

5³∗3⁷

5²∗3⁴
=5³⁻²∗3⁷⁻⁴=5∗3³=135

a⁶b⁴c²

a³c²b³
=a⁶⁻³b⁴⁻³c²⁻²=a³b

c² сократится



(aᵐ)ⁿ=aᵐⁿ

3.  Степень степени

(2²)³= ∗ ∗ = 2∗2∗2∗2∗2∗2=
=2⁶=64

2²
2²
2²

(3²)²= ∗ = 3∗3∗3∗3=3⁴=81
3²
3²

2 + 2 + 2 = 2 ∗ 3 = 6

2  +  2 = 2 ∗ 2 = 4

Формула



Примеры.

(4²)⁴=4²*⁴=4⁸

(6⁴)³=6⁴*³=6¹²

(9⁴)²=9⁴*²=9⁸

(7⁴)⁸=7⁴*⁸=7³²

(a⁸)=a⁸*³=a²⁴

(b³)¹¹=b³*¹¹=b³³



(ab)ⁿ=aⁿbⁿ

4.  Степень произведения
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(2∗3)³
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2∗3 = ∗ ∗ =2³∗3³

7∗5
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Примеры.

(6∗5)⁵=6⁵∗5⁵

(2∗7⁴)³=2¹*³∗7⁴*³=2³∗7¹²

(3²∗2⁴)³=(3²)³∗(2⁴)³=
=3²*³∗2⁴*³=3⁶∗2¹²

(9∗8)⁴=9⁴∗8⁴

(3∗7)⁷=3⁷∗7⁷ (4∗9)⁶=4⁶∗9⁶

(8³∗33)³=8³*³∗33³=8⁹∗33³

ab³ 5 = a⁵b³͘⁵ = a⁵b¹⁵



5.  Степень дроби
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Пример  1.

Пример  2.
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Переведём смешанную дробь в неправильную.
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Примеры.
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